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INTERMEDIATE EXAMINATION – 2023 (ANNUAL) 

 

HOME SCIENCE (ELECTIVE) 

I.A. (Theory/ ) 

Total No. of questions – 70 + 20 + 6 = 96 

dqy iz’uksa dh la[;k & 70 $ 20 $ 6 ¾ 96

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ 

vo’; fy[ksaA 

Candidate must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as 

far as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]  ,oa  

This question booklet is divided into two sections : Section-A 

and Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh     

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

Sub. Code-319 
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ewY;kadu gksxkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds 

fy;s miyC/k djk;s x;s OMR mÙkj&i=d esa fn;s x;s lgh fodYi dks 

uhy@dkys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] 

vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with 

blue/black ball pen against the correct option on OMR-Answer 

Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail 

etc. on OMR Answer Sheet, otherwise the result will be treated 

invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA 

ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M 

esa 06 nh?kZ mÙkjh; iz’u fn, x;s gSaA izR;sd ds fy, 05 vad fu/kkZfjr gSa] 

ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short answer type questions, each  

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long answer type 

questions, each carrying 5 marks, out of which any 3  questions 

are to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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Section –A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds fy, pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfUgr djsaA vkidksa 35 

iz’uksa ds mÙkj nsus gSaA ;fn ijh{kkFkhZ 35 ls vf/kd iz’uksa ds mŸkj nsrs gSa] rks izFke 35 

mŸkjksa dh tk¡p gksxhA        35 x1 = 35 

Question Nos.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected options on the OMR Sheet. Only 

35 questions are to be answered. If the candidate answers more than 35 

questions the first 35 answers will be evaluated.   35 x1 = 35 

1- buesa ls dkSu var%lzkoh xzafFk ugha gS \ 

 (A) Fkk;jkbM xzafFk    (B) vf/kòDd xzafFk 

 (C) ilhus dh xzafFk    (D) ih;w"k xzafFk 

 Which of the following is not an endocrine gland ? 

 (A) Thyroid gland    (B) Adrenal gland 

 (C) Sweat gland    (D) Pituitary gland 

2- buesa ls dkSu ò"k.k dk dk;Z gS \ 

 (A) 'kqØk.kqvksa dk fuekZ.k djuk  (B) v.Mk.kqvksa dk fuekZ.k djuk 

 (C) ,sLVªkstsu gkeksZu dk lzko djuk (D) izkstsLVsjksu gkeksZu dk lzko djuk 

 Which of these is a function of testes ? 

 (A) production of sperms  (B) Production of ovum 
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 (C) Secretion of estrogen  (D) Secretion of progesterone 

3- dkSu lk gkeksZu dsoy efgykvksa esa lzkfor gksrk gS \ 

 (A) izksySfDVu     (B) FkkbjkWfDlu 

 (C) ?kzsfyu     (D) bUlqfyu 

 Which harmone is secreted only in women ? 

 (A) Prolactine    (B) Thyroxine 

 (C) Ghrelin     (D) Insulin 

4- uj iztuu vax gS & 

 (A) ò"k.k     (B) fyax 

 (C) vaMdks"k dh FkSyh   (D) mi;qZDr lHkh  

 Male reproductive organ is – 

 (A) Testes     (B) Penis 

 (C) Scrotum    (D) All of the above  

5- fuEufyf[kr esa ls dkSu ok;q iznw"k.k dk ,d izkd`frd dkj.k gS \ 

 (A) Tokykeq[kh ls fudyus okyk jk[k (B) ydM+h ,oa dks;ys dks tykuk 

 (C) dy&dkj[kkuksa ls fudyk /kq¡vk (D) okguksa ls fudyus okyk /kq¡vk 

 Which of the following is a natural cause of air pollution ? 

 (A) Ash from volcanoes  (B) Burning wood and coal 

 (C) Smoke from factories  (D) Smoke from vehicles 

6- ekfld /keZpØ dh lkekU; vof/k D;k gS \ 

 (A) 30 fnu     (B) 28 fnu 
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 (C) 24 fnu     (D) 22 fnu 

 What is the normal duration of menstrual cycle ? 

 (A) 30 days     (B) 28 days 

 (C) 24 days    (D) 22 days 

7- buesa ls dkSu /ofu iznw"k.k ds dkj.k gksrk gS \ 

 (A) vk¡[k dh jks’kuh dk de gksuk  (B) lquus dh {kerk de gksuk 

 (C) peZ jksx     (D) gfM~M;ksa dk jksx 

 Which of these occurs due to noise pollution ? 

 (A) Diminished eye sight  (B) Hearing loss 

 (C) Skin disease    (D) Bone disease 

8- buesa ls dkSu lk ty gkFk /kksus ds fy, mi;qDr ugha gS \  

 (A) cgrk ty    (B) LoPN ty 

 (C) laxzfgr ty    (D) xje ty 

 Which type of water is not suitable for hand washing ?  

 (A) Running water   (B) Clean water 

 (C) Stored water    (D) Hot water 

9- futZyhdj.k dk D;k dkj.k gS \ 

 (A) Hkkstu dh deh    (B) ty dh deh 

 (C) nw/k dh deh    (D) buesa ls lHkh 

 What is the cause of dehydration ? 

 (A) Lack of food    (B) Lack of water 
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 (C) Lack of milk    (D) All the above 

10- vkgkj vk;kstu dk egÙo gS & 

 (A) ifjokj ds fy,    (B) lekt ds fy, 

 (C) Lo;a ds fy,    (D) buesa ls lHkh 

 Meal planning is important for – 

 (A) Family     (B) Society 

 (C) Oneself     (D) All of these 

11- feykoV gks ldrh gS & 

 (A) tkucw>dj    (B) vutkus esa 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ ugha 

 Adulteration may be - 

 (A) Intentional    (B) Unintentional 

 (C) Both (A) and (B)   (D) None of the above 

12- izloksijkar ns[kHkky dh vof/k gS & 

 (A) xHkZ/kkj.k ls izlo rd   (B) xHkZ/kkj.k ls izloiwoZ rd 

 (C) izlo ls 45 fnuksa rd   (D) izlo ls N% ekl rd 

 The period of postnatal care is – 

 (A) Conception to delivery  (B) Conception to predelivery 

 (C) Delivery to 45 days   (D) Delivery to 6 months 

13- buesa ls dkSu O;fDrxr LoPNrk ds varxZr vkrk gS \ 

 (A) gkFk     (B) cky 
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 (C) diM+s     (D) mi;qZDr lHkh 

 Which of these comes under personal hygiene ? 

 (A) Hands     (B) Hair 

 (C) Clothes     (D) All of the above 

14- buesa ls dkSu ,Q-ih-vks- ekdZ okys mRikn gSa \ 

 (A) Qy ,oa lCth mRikn   (B) df̀"k mRikn 

 (C) fo|qr ia[ks    (D) ,y-ih-th- flysaMj 

 Which of these is a F.P.O. mark products ? 

 (A) Fruits and vegetable product (B) Agricultural product 

 (C) Electric fan    (D) L.P.G. Cylinder  

15- buesa ls dkSu [kkn~; laj{k.k dh ,d fof/k gS \ 

 (A) iz’khru     (B) lq[kkuk 

 (C) fgehdj.k     (D) mi;qZDr lHkh 

 Which of these is a method of food preservation ? 

 (A) Refrigeration    (B) Drying 

 (C) Freezing    (D) All of the above 

16- Qyksa ds idus ds fy, fuEufyf[kr esa ls dkSu ftEesnkj gS \ 

 (A) QQw¡anh     (B) [kehj 

 (C) cSDVhfj;k     (D) ,Utkbe 

 Which of the following is responsible for ripening of fruits ? 

 (A) Mildew     (B) Yeast 
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 (C) Bacteria    (D) Enzyme 

17- buesa ls dkSu lk xHkkZoLFkk ds nkSjku [krjs dk ladsr gS \ 

 (A) Hkzw.k dh xfr esa deh   (B) ;ksfu ls [kwu cguk 

 (C) iSj@psgjs esa lwtu   (D) buesa ls lHkh 

 Which of these is a danger sign during pregnancy ? 

 (A) Reduced foetal movement (B) Vagina bleeding  

 (C) Swollen feet/face   (D) All the above 

18- xHkkZoLFkk ds nkSjku buesa ls fdlls cpuk pkfg, \ 

 (A) iksNk yxkuk    (B) Vgyuk 

 (C) diM+s /kksuk    (D) Hkkjh leku mBkuk 

 Which of these need to be avoided during pregnancy ? 

 (A) Mopping    (B) Walking 

 (C) Washing clothes   (D) Lifting heavy items  

19- buesa ls dkSu Ba<k jax gS \ 

 (A) gjk     (B) yky 

 (C) ukjaxh     (D) ihyk 

 Which of these is a cool colour ? 

 (A) Green     (B) Red 

 (C) Orange     (D) Yellow 

20- fdl izdkj dk cSad [kkrk C;kt ugha nsrk gS \ 

 (A) cpr [kkrk    (B) lkof/k [kkrk 
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 (C) pkyw [kkrk    (D) vkorhZ [kkrk 

 Which type of bank account does not give interest ? 

 (A) Savings Account   (B) Fixed Account 

 (C) Current Account   (D) Recurring Account 

21- fdlds fy, izloksijkar ns[kHkky egÙoiw.kZ gS \ 

 (A) ekrk ds fy,    (B) cPps ds fy, 

 (C) nksuksa (A) ,oa (B)   (D) buesa ls dksbZ ugha 

 For whom postnatal care is important ? 

 (A) Mother     (B) Baby 

 (C) Both (A) and (B)   (D) None of the above 

22- buesa ls dkSu 'kkjhfjd fodkl ds varxZr ugha vkrk gS \ 

 (A) yEckbZ     (B) otu 

 (C) nk¡r     (D) Hkk"kk 

 Which of these doesnot come under physical development ? 

 (A) Height     (B) Weight  

 (C) Teeth     (D) Language 

23- buesa ls dkSu izkf.kt /kCck gS \ 

 (A) nw/k     (B) isUV 

 (C) Qwy     (D) lCth 

 Which of these is an animal stain ? 

 (A) Milk     (B) Paint 
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 (C) Flower     (D) Vegetable 

24- ek¡ dk nw/k cPpksa dks D;k iznku djrk gS \ 

 (A) izkd`frd izfrdkfjrk   (B) lqj{kk ,oa Lusg 

 (C) nksuksa (A) vkSj (B)   (D) buesa ls dksbZ ugha 

 What does mother’s milk provide to babies ? 

 (A) Natural resistance   (B) Safety and affection 

 (C) Both (A) and (B)   (D) None of these 

25- buesa ls dkSu [kkn~; tfur laØe.k gS \ 

 (A) isfp’k     (B) gStk 

 (C) VkbQkbM  ¼vka= Toj½   (D) mi;qZDr lHkh 

 Which of these is a foodborne infection ? 

 (A) Dysentery    (B) Cholera  

 (C) Typhoid     (D) All of the above 

26- fdl izdkj dk fuos’k vk;dj esa NwV ugha nsrk gS \ 

 (A) lkof/k tek    (B) thou chek 

 (C) yksd Hkfo"; fuf/k   (D) jk"Vªh; cpr izek.k i= 

 Which type of investment does not give rebate in income tax ? 

 (A) Fixed Deposit   (B) Life Insurance 

 (C) Public Provident Fund (PPF) (D) National Saving Certificate 

27- buesa ls dkSu ekuoh; lk/ku ugha gS \ 

 (A) :fp     (B) Kku 
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 (C) ;ksX;rk     (D) midj.k 

 Which of these is not a human resource ? 

 (A) Interest     (B) Knowledge 

 (C) Talent     (D) Equipment 

28- buesa ls fdldk mi;ksx dhM+ksa dks oL=ksa ls nwj j[kus ds fy, fd;k tkrk gS \ 

 (A) lekpkj i= dh L;kgh   (B) us¶Fkyhu dh xksfy;k¡ 

 (C) lw[kh uhe dh ifÙk;k¡   (D) buesa ls lHkh 

 Which of these is used to keep insects away from fabric ? 

 (A) Ink of Newspaper   (B) Naphthalene balls 

 (C) Dry neem leaves   (D) All of these 

29- fuEu esa ls dkSu lk fuos’k dk lcls lqjf{kr lk/ku gS \ 

 (A) jk"Vªh; cpr i=    (B) lksuk  

 (C) tehu     (D) edku 

 Which of the following is the safest means of investment ?  

 (A) National Saving Certificate (B) Gold 

 (C) Land     (D) House 

30- buesa ls dkSu vakrfjd lTtk dk rÙo ugha gS \ 

 (A) LFkku     (B) jax 

 (C) iSlk     (D) izdk’k 

 Which of these is not an element of interior decoration ? 

 (A) Space     (B) Colour 
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 (C) Money     (D) Light 

31- buesa ls fdl oL= ds fy, LVkpZ vkSj uhy dk mi;ksx gksrk gS \ 

 (A) lQsn lwrh oL=    (B) dkys lwrh oL= 

 (C) jaxhu lwrh oL=    (D) buesa ls lHkh 

 Starch and Blue are used for which type of clothes ? 

 (A) White cotton clothes  (B) Black cotton clothes 

 (C) Coloured cotton clothes  (D) All the above 

32- eqag esa cwanksa }kjk Vhdk fdl jksx ls cpko ds fy, fn;k trk gs \ 

 (A) [kljk     (B) iksfy;ks 

 (C) fVVusl     (D) pspd 

 Vaccine is given by drops in mouth to prevent against which disease? 

 (A) Measles    (B) Polio 

 (C) Tetanus    (D) Chicken Pox 

33- ekuo esa vkdkj] yEckbZ ,oa otu esa gksus okys izR;sd ifjoÙkZu dgykrk gS & 

 (A) òf)     (B) fodkl 

 (C) nksuksa (A) vkSj (B)   (D) nksuksa esa ls dksbZ ugha 

 Every change in size, height and weight in human is called – 

 (A) Growth     (B) Development 

 (C) Both (A) and (B)   (D) None of the above 

34- buesa ls dkSu cpr ls gksus okyk ykHk ugha gS \ 

 (A) vkirdkyhu t:jrksa dh iwfÙkZ  (B) vpy laifÙk dh [kjhn 
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 (C) euksoSKkfud fuf’parrk   (D) vuko’;d [kpZ dks lhfer djuk 

 Which of the following is not a benefit of saving ? 

 (A) Meeting emergency needs  

(B) Purchasing of fixed asset 

 (C) Psychological relaxation   

(D) Limiting unnecessary expenditure 

35- ty dk v.kqlw= D;k gksrk gS \ 

 (A) H2O     (B) H2O2 

 (C) HO2     (D) H2O3 

 What is the molecular formula of water ? 

 (A) H2O     (B) H2O2 

 (C) HO2     (D) H2O3  

36- buesa ls dkSu cSad dk dk;Z ugha gS \ 

 (A) _.k pqdkuk    (B) eqnzk dh cpr 

 (C) thou chek    (D) _.k nsuk 

 Which of these is not a function of bank ? 

 (A) Repay loans    (B) Save money 

 (C) Insure life    (D) Give loan 

37- cpr lqjf{kr ugha djrk gS & 

 (A) Hkwrdky     (B) oÙkZekudky 

 (C) Hkfo";dky    (D) mi;qZDr lHkh 
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 Saving does not secure – 

 (A) Past     (B) Present 

 (C) Future     (D) All of the above 

38- buesa ls jlksbZ?kj esa fdldh lQkbZ izfrfnu gksuh vko’;d ugha gS \ 

 (A) LySc     (B) dwM+snku 

 (C) >kM+u     (D) elkys dk MCck 

 Which of these in the kitchen does not require cleaning everyday ? 

 (A) Slab     (B) Dustbins  

 (C) Duster     (D) Spice case 

39- fuEu esa ls dkSu nw/k esa feyk;k tkus okyk vifeJd ugha gS\ 

 (A) ikuh     (B) LVkpZ 

 (C) ikmMj nw/k    (D) xsgw¡ ikmMj 

 Which of the following is not an adulterant added to milk ? 

 (A) Water     (B) Starch 

 (C) Milk powder    (D) Wheat powder  

40- nkysa fdl iks"kd rÙo dk vPNk lzksr gS \ 

 (A) izksVhu     (B) olk 

 (C) dkcksZgkbMªsV    (D) foVkfeu 

 Pulse are a good source of which nutrient ? 

 (A) Protein     (B) Fat  

 (C) Carbohydrate   (D) Vitamin  
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41- buesa ls dkSu ekuo fefJr rUrq gS \ 

 (A) js’ke     (B) Åu 

 (C) uk;ykWu     (D) fyuu 

 Which of the following is a man made fibre ? 

(A) Silk     (B) Wool 

(C) Nylon     (D) Linen 

42- buesa ls dkSu fefJr oL= gS \ 

 (A) dkWV~loqy     (B) VsjhflYd 

 (C) VsjhdkWV     (D) bues ls lHkh 

 Which of these is a mixed fabric ? 

 (A) Cottswool    (B) Terry silk 

 (C) Terrycot    (D) All of these 

43- buesa ls dkSu vkgkj laj{k.k dh lcls iqjkuh fof/k gS \ 

 (A) lq[kkuk     (B) fMCckcanh 

 (C) fofdj.k     (D) ik’pjkbZts’ku 

 Which  of these is an oldest method of food preservation ? 

 (A) Drying     (B) Canning 

 (C) Irradiation    (D) Pasteurisation 

44- ^^LoPN Hkkjr vfHk;ku** Hkkjr ljdkj }kjk fdl frfFk dks vkjaHk fd;k x;k Fkk \ 

 (A) 2 vDVwcj 2013    (B) 2 vDVwcj 2014 

 (C) 2 vDVwcj 2015    (D) 2 vDVwcj 2016 
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 When was “Swachch Bharat Abhiyan/Compaign” started by the 

Indian Government ? 

 (A) 2nd October 2013   (B) 2nd October 2014 

 (C) 2nd October 2015   (D) 2nd October 2016  

45- buesa ls fdl gkeksZu ds de lzko ls iq:"kksa esa iq:"kRo dh deh gks tkrh gS \ 

 (A) ,LVªkstu     (B) izkstsLVsjksu 

 (C) ,UMªkstu     (D) buesa ls dksbZ ugha 

 Low secretion of which hormone leads to lack of masculinity in men ? 

 (A) Estrogen    (B) Progesterone 

 (C) Androgen    (D) None of these 

46- buesa ls dkSu izkd`frd rUrq gS \ 

 (A) lwrh     (B) iksfyLVj 

 (C) js;ku     (D) ukbykWu 

 Which of these is a natural fiber ? 

 (A) Cotton     (B) Polyester 

 (C) Rayon     (D) Nylon 

47- fuEu esa ls dkSu jsfM;ks/kehZ iznw"k.k ls izHkkfor gksrk gS \ 

 (A) euq";     (B) tho&tUrq 

 (C) ouLifr     (D) buesa ls lHkh 

 Which of the following gets affected by radioactive pollution ? 

 (A) Human     (B) Living organism 
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 (C) Vegetation    (D) All of the above 

48- buesa ls dkSu 'kh?kz u"V gksus okyk [kkn~; inkFkZ gS \ 

 (A) nw/k     (B) puk 

 (C) eSnk     (D) pkoy 

 Which of these is a perishable food item ? 

 (A) Milk     (B) Gram 

 (C) Flour     (D) Rice 

49- buesa ls dkSu ,xekdZ [kkn~; inkFkZ ugha gS \ 

 (A) tSe     (B) rsy 

 (C) cslu     (D) ?kh 

 Which of these is not an Agmark food item ? 

 (A) Jam     (B) Oil 

 (C) Besan     (D) Ghee 

50- fo’o cpr fnol euk;k tkrk gS & 

 (A) 30 vDVwcj    (B) 2 uoEcj 

 (C) 10 uoEcj    (D) 14 uoEcj 

 World Saving Day is celebrated on – 

 (A) 30th October    (B) 2nd November 

 (C) 10th November   (D) 14th November  

51- miHkksDrk viuh f’kdk;r dgk¡ ntZ djk ldrk gS \ 

 (A) fuekZrk ds ikl    (B) foØsrk ds ikl 
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 (C) miHkksDrk fookn fuokj.k vk;ksx (D) buesa ls lHkh ds ikl 

 Where can consumers lodge their complaints ? 

 (A) Manufacturer     

(B) Seller 

 (C) Consumer Disputes Redressal Commission    

(D) All of the above 

52- lkekU; xHkkZoLFkk dh vof/k D;k gS \ 

 (A) 280 fnu     (B) 180 fnu 

 (C) 160 fnu     (D) 140 fnu 

 What is the period of normal pregnancy ? 

 (A) 280 days    (B) 180 days 

 (C) 160 days    (D) 140 days 

53- buesa ls dkSu ekrk&firk dh vuqifLFkfr esa cPps dh oSdfYid ns[kHkky gS \ 

 (A) HkkbZ cgu     (B) nknk nknh@ukuk ukuh 

 (C) iM+kslh     (D) buesa ls lHkh 

 Which of these is substitute of child care in absence of parents ? 

 (A) Siblings     (B) Grand parents 

 (C) Neighbour    (D) All the above 

54- dkSu lk iznw"k.k vf/kd gkfudkjd gS \ 

 (A) izkd`frd iznw"k.k    (B) ekuo fufeZr iznw"k.k 

 (C) nksuksa (A) vkSj (B)   (D) buesa ls dksbZ ugha  
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 Which pollution is more harmful ? 

 (A) Natural pollution   (B) Man made pollution 

 (C) Both (A) and (B)   (D) None of them 

55- ifjokj ds fy, fdl izdkj dk ctV loksZÙke gS \ 

 (A) larqfyr ctV    (B) ?kkVs dk ctV 

 (C) cpr dk ctV    (D) buesa ls lHkh 

 Which type of budget is best for family ? 

 (A) Balanced budget   (B) Deficit budget 

 (C) Surplus budget   (D) All of these 

56- buesa ls dkSu ekuo 'kjhj esa ÅtkZ iznku ugha djrk gS \ 

 (A) izksVhu     (B) dkcksZgkbMªsV 

 (C) olk     (D) foVkfeu 

 Which of these does not provide energy in human body ? 

 (A) Protein     (B) Carbohydrate 

 (C) Fat     (D) Vitamin 

57- dyk dk fl)kar gS & 

 (A) y;     (B) vuqikr 

 (C) larqyu     (D) buesa ls lHkh 

 The principle of art is – 

 (A) Rhythm     (B) Proportion 

 (C) Balance    (D) All of the above 
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58- xHkkZoLFkk ds nkSjku jDr esa fdl rÙo dh deh gks tkrh gS \ 

 (A) Fkkbfeu     (B) dSfYl;e 

 (C) fe;ksflu     (D) dSyksjh 

 Which element gets deficient in blood during pregnancy ? 

 (A) Thymine    (B) Calcium 

 (C) Myosin     (D) Calorie  

59- d`f"k esa dhVuk’kdksa] jlk;uksa rFkk moZjdksa ds vf/kd iz;ksx ls fdl izdkj dk 

iznw"k.k gksrk gS \ 

 (A) feV~Vh iznw"k.k    (B) /ofu iznw"k.k 

 (C) ty iznw"k.k    (D) buesa ls dksbZ ugha 

 Which type of pollution is caused due to excessive use of pesticides, 

chemicals and fertilizers in agriculture ? 

 (A) Soil pollution    (B) Noise pollution 

 (C) Water pollution   (D) None of the above 

60- buesa ls dkSu lwrh oL= dh fo’ks"krk ugha gS \ 

 (A) f’kdu eqDr    (B) vkjkenk;d 

 (C) 'khry     (D) eqyk;e 

 Which of these is not a characteristic of cotton clothes ? 

 (A) Wrinkle free    (B) comfortable 

 (C) Cool     (D) Soft 

61- LVkpZ;qDr diM+ksa dk laxzg.k izHkkfor gks ldrk gS & 
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 (A) QQw¡nh     (B) flYoj fQ’k 

 (C) /kCcs     (D) buesa ls dksbZ ugha 

 Storage of starched clothes can get affected by – 

 (A) Mildew     (B) Silverfish 

 (C) Stains     (D) None of these 

62- oL=ksa ij /kCcs NqM+kus dh fof/k ugha gS & 

 (A) jklk;fud    (B) 'kks"kd 

 (C) ?kksyd     (D) HkkSfrd 

 Which of these is not a method of stain removal ? 

 (A) Chemical    (B) Absorbent 

 (C) Solvent     (D) Physical 

63- fcgkj dh lwbZ f’kYi gS & 

 (A) lqtuh     (B) tkenkuh 

 (C) Qqydkjh     (D) fla/kh 

 Bihar needle craft is – 

 (A) Sujani     (B) Jamdani 

 (C) Phulkari    (D) Sindhi 

64- buesa ls dkSu Hkkstu ifjj{k.k dk rjhdk gS \ 

 (A) lq[kkuk     (B) iz’khru 

 (C) fd.o.k     (D) buesa ls lHkh 

 Which of these is a method of food preservation ? 
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 (A) Drying     (B) Refrigeration 

 (C) Fermentation    (D) All of the above 

65- buesa ls dkSu [kkn~; inkFkZ esa feykoV dk irk yxkus dk rduhd gS \ 

 (A) n’̀; ijh{k.k    (B) jklk;fud ijh{k.k 

 (C) HkkSfrd ijh{k.k    (D) mi;qZDr lHkh 

 Which of these is a technique of detecting food adultration ? 

 (A) Visual test    (B) Chemical test 

 (C) Physical test    (D) All of these 

66- buesa ls dkSu ifjokj dh ekfld vk; gS \ 

 (A) osru     (B) fdjk;k 

 (C) isa’ku     (D) buessa ls lHkh 

 Which of these is a monthly income of a family ? 

 (A) Salary     (B) Rent 

 (C) Pension    (D) All the above 

67- fdl izdkj ds /kCcs dks NqM+kuk lcls dfBu gksrk gS \ 

 (A) okuLifrd    (B) izkf.kt 

 (C) vKkr     (D) tad 

 Which type of stain is most difficult to remove ? 

 (A) Vegetable     (B) Animal 

 (C) Unknown    (D) Corrosion 

68- ok;q dk izeq[k ?kVd D;k gS \ 
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 (A) vkWDlhtu    (B) gkbMªkstu 

 (C) ukbVªkstu     (D) tyok"i 

 What is the major constituent of air ? 

 (A) Oxygen     (B) Hydrogen 

 (C) Nitrogen    (D) Water vapour 

69- buesa ls dkSu izkFkfed jax gS \ 

 (A) yky     (B) ihyk 

 (C) uhyk     (D) buesa ls lHkh 

Which of these is a primary colour ? 

(A) Red     (B) Yellow 

(C) Blue     (D) All of these  

70- ekfld /keZ fL=;ksa esa lkekU;r% dc lekIr gks tkrh gS \ 

 (A) 30&35 o"kZ    (B) 30&40 o"kZ 

 (C) 40&45 o"kZ    (D) 45&50 o"kZ 

 What age does menstruation normally stops in a woman ? 

 (A) 30-35 years    (B) 30-40 years 

 (C) 40-45 years    (D) 45-50 years 

Section-B 

Short Answer Type Questions

iz’u la[;k 1 ls 20 y?kq mÙkjh; iz’u gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 

vad fu/kkZfjr gSaA vius mŸkj yxHkx 40&50 'kCnksa esa nsa A   10x2=20 
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Question nos. 1 to 20 are Short Answer Type Questions. Answer any 10 

questions. Each question carries 2 marks. Answer your questions in about 

40-50 words each.        10x2=20 

1- foVkfeu          2 

Vitamin 

2- foKkiu          2 

Advertisement 

3- js’kk          2 

Fiber 

4- ek/;fed jax         2 

Secondary Colour    

5- ØsfMV dkMZ         2 

Credit Card 

6- iznw"k.k          2 

Pollution 

7- ekSfnzd vk;         2 

Monetary income 

8- izkf.kt /kCcs         2 

Animal stain 

9- larqfyr vkgkj         2 

Balanced diet 
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10- xHkkZoLFkk         2 

Pregnancy 

11- ty esa ?kqyu’khy v’kqf);k¡       2 

Soluble impurities in water 

12- Åuh diM+ksa dh ns[kHkky       2 

Care of woollen clothes 

13- Lruiku          2 

Breastfeeding 

14- O;fDrxr LoPNrk        2 

Personal hygiene 

15- vkjkensg oL=         2 

Comfortable clothes 

16- le; izca/ku         2 

Time Management 

17- ikfjokfjd lalk/ku        2 

Family resources 

18- FkkbjkW;M xzafFk         2 

Thyroid gland 

19- csjkstxkjh         2 

Unemployment 

20- vLFkkbZ nk¡r         2 

Temporary teeth 
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Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSA fdUgha 3 iz’uksa ds mÙkj nsaAvius iz’uksa ds mŸkj yxHkx 80 ls 100 'kCnksa esa 

nsaA           3x5=15 

Question nos. 21 to 26 are Long Answer Type questions. Each question 

carries 5 marks. Answer any 3 questions. Answer your questions in about 

80 to 100 words.         3x5=15 

21- xHkkZoLFkk ds nkSjku eq[; :Ik ls fdu iks"kd rÙoksa dh vko’;drk gksrh gS \ 

o.kZu djsaA         5 

What are the nutrients mainly required during pregnancy ? 

22- Fkk;jkW;M xzafFk ds dk;Z D;k gS \      5 

What are the functions of thyroid gland ? 

23- iznw"k.k fdrus izdkj ds gksrs gSa \ izR;sd dk laf{kIr o.kZu djsaA  5  

What are the different types of pollution ? Give brief description 

of each. 

24- fcgkj ds fdlh ,d lwbZ f’kYi ¼d<kbZ dyk½ ds fo"k; esa fy[ksaA   5 

Write about any one needle craft of Bihar. 

25- psd ds fdrus izdkj gksrs gSa \ psd ds }kjk Hkqxrku djus ds ykHkksa dk o.kZu 

djsaA         5 

What are the types of Cheques ? Give advantages of payment 

by cheque. 
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26- [kkn~; inkFkksZa ds laj{k.k dk eq[; mís’; D;k gS \ o.kZu djsaA  5 

What is the main purpose of food preservation ? Describe. 

 


